Max : ivil[(pt. Q¢ . Iy) — C(Q). 1]

C(Qr)=cour+%,¢.Qbj+costiV +costi” Vi

1) ij,t < Zj _ Zj_1

2) Qbjr=2Z; — Zj 1 -M . (1 = bjq1)
3) Qb < Z; — zmin

4) €. ij,t < bj,t <M. ij,t

5) Q¢=Y;Qbje +2™". u,

6) cost:V > cSY (uy — up_q)
7) cost:? > 5P (upmy — uy)
8) cost3V > ¢SV (u; —uf)
9) cost;? > c¢5P (u® —uy)

10) Qer1-Q: <RVPu  + RV (1 — wy)
11) Qt - Q41 < Rdown Uppr + ROP (1 — upyq)
12) %:1('1 —u;)=0
13) P11 — ) = L™ (uemy — uy)
14) al e = (Np ) (Uemy — up)
15) Z{-{:l ut = 0
16) ?;Igmm_l U = K™ (uy — up_q)
N
17) Ymr(I—wg) = (Np -t) (upmq — uy)
18) L=max {0, min {Ng, (k™" -L°)u®}}

8 sl Cud gaaa

Vt,j=2, .., N;

Vt,j=2, .., N;

Vit

Vit,]

Vi
t=2, veey NT
t=2, veey NT
t=1, veey NT -1
t=1, veey NT -1

Vit=L+1, .., Np - L™" +1

Vt=Np-L™" 42, .., Ny

Vt=K+1, ..., Np - K™ +1

Vt=Np-L™" 42, .., Ny



19) K=max{0, min{Ny, (L™" -K°)(1-u®) }}
20) uei{0,1}

21) M.I, +p, = mepk Vit
22) pe - M (1-I) < mept Vit

Parameters:
Pt

mcpR

mcpk
M;SJ)'.J (8
€p=16.45
z™M = 60
zM¥* =140
Lmin =1
K™ =1

u®=1



RYP=780
R4own=780
RSY=780
RSP=780
cSU=36.8
c5P=136.8
L°=2
K°=0
Z,=70
Z,=80
Z3=90
Z,=100
Zs=110
Z=120
Z,=130
Zg= 140
c,= 145381
c,= 150500
c3= 155618
c,= 160737
cs= 165856
cc= 170975
c,=176093
cg= 181212






